8

@ (x+3)2=x2+6x+9

@ (4x - 3y)? = 16x2 — 24xy + 9y?

® (x+3y)(3y — x) = (x + 3y)(—x + 3y) = —x? + 9y?
@ (x-5)(x+4)=x2-x-20

® (x+ 5y)(2x — 3y) = 2x2 + Txy — 15y
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(x+y)(x—y-2)E A A2

@xz—yQ—Qx—Qy @ x2-y?-2x+2y
® x*—y?+2x+2y @ x*4y*-2x-2y

® x%-y?+2x-2y

(x+y)(x-y-2)
=(x+y)(x-y) -2(x+y)
=x?-y?-2x-2y
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@ x®+2xy+y*=(-x+y)?
@ ax-bx—-a+b=(a-b)(x+1)
@) +x-6=(x-2)(x+3)

@ 6x2—x-1=(2x+1)(3x-1)
® 2 +2=(x—V2)(x+ V2)




=% a’—a*—a+19 157 obd A2 B5F F 7fR1A] FLSHH?

@ a?+1 © a?-1 © a+1
® a-1 @ a+1

D14 @24 @3AH @44 6 @

B *
ad-a*-a+1=a*a-1)-
@ -Da-1)
=(a-1)*(a+1)
O2tA a3 —a? —a+19 159 A2 ©, ©, @°lEE I57}
ofd A2 F2 27o[ct.




6. H= deEsl AHolA ol 8 FAS B L2W? (Hha>0,6>0)

W4yl dy -1 =2 - (D2 -4y +1)=x>-(2y-1)?2 =
(x+2y-1)(x—2y+1)

@® a* +2ab + b* = (a+ b)?
@)a? - 2ab + b? = (a - b)?
@)a?-b* = (a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

B ~
P-4 +4y-1
=x2— (D% -4y +1)
=x2—(2y-1)2 .- [a®-2ab+b* = (a-b)?]
=(x+2y-1)(x-2y+1)--- [a®>=b*>=(a+Db)(a-b) ]
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@® g)x 6xy+3§ @) gx 32xy 3V
® §x2+12xy+ §y2 @ §x2+§y2
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%(2x—y)(3x+2y)—g(x—Qy)(4x+3y) o] AMAONA xy 0] AL

23 47
o> o3 o0z @F os

L (2r-)(35-+29) 91 (9 91 A)= S((-1)x3+2x2) = ol

- (e-29) (4r+3) 91 (o 91 A= (-2 xa+1x3) = 2
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g o] Lol x 9l Azt 9] Wol
oA B He] o)k 1 A AN
wolg Witk oju], o] Wols 4}
Aoz bl o, Azge] N
7tzof Az o] holg Fatofat.
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> =
D HE x+1
IS I= |
T WolE WA x2 - 10]B= (x+1)(x—-1)




11, (x+2)%-5(x+2)+6, x> +x-2 9 F5S A5=?

D x @x—l @ x+2 @ x-3 ® x+1

B

x+2E A

(x+2)°-5(x+2)+6=A4%-54+6
=(A-3)(4-2)
=x(x-1)

Prx-2=(x-1)(x+2)
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12.

o @ O] A4 ax? + b + ¢ B Q14+ Eallsh=t] SulE
B EOIA 3 (x-1) (x—4) 7F HAT, @A ATTE H
EoJA 3 (x—1)(x+5) 7} =T} o] wf, Fo]F o]x}4]-Z Ht

Q1% Eole AL

©® 3(x-2)° @3(x+2)2
® 2(x-2)(x+2) @ 3(x-2)(x+2)
® 3(x—4)(x+5)

U= 3(x - 1)(x —4) oA A5 12 & 2A HYL,
AAol=3(x—1)(x+5) oA x & A4 12 & FA HYTh
whehA] 3x2 + 12x + 12 = 3(x + 2)2 o[t}
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@ 2(3x+2) + (2x—1) (3x+2)
O 2x(2x+1) - 3(1 + 2x)

© (x+2)(x-1)-2(x+2)

® x*—4x+4

@ 2x2+7x+6

o

0z
m m

v v v vvyVvyvyy
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@2Bx+2)+(2x-1)Bx+2) =(3x+2) (2x+ 1)
O 2x(2x+1)-3(1+2x) = (2x+ 1) (2x - 3)

® x+2)(x-1)-2(x+2)=(x+2)(x-3)
@®x2—dx+4=(x-2)?

@ 2x%+Tx+6=(2x+3) (x+2)




(2a — b)? - (2a + b)?
=(2a—b+2a+Db)(2a—b-2a-b)
= da x (—2b)

= —8ab
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